
Coverage 1 

Coverage refers to the proportion of members belonging to set A within set B when set 2 
A is included in set B (A is a subset of B, A is a sufficient condition for B). In QCA, the 3 
proportion of cases belonging to the outcome R that also belong to the sufficient 4 
condition C is called solution coverage. The proportion of cases belonging to each item 5 
analyzed as a condition that also belong to the outcome R is called raw coverage. Often, 6 
the sets created by individual items form intersections with other sets. The proportion 7 
of cases that belong to the outcome R and are explained solely by the conditions of 8 
individual sets, excluding overlapping parts with other sets, is called unique coverage. 9 

 10 

Venn diagram of Solution 𝐴𝐴∨𝐵𝐵⇒𝑅𝑅 11 

 12 

The diagram shows the solution (𝐴𝐴∨𝐵𝐵⇒𝑅𝑅 ): the logical OR of A and B is a sufficient 13 
condition for R (if A or B, then the result is R) using a Venn diagram. Assume the 14 
members of each set are as follows: 15 

𝑈𝑈 = {𝑎𝑎,𝑏𝑏, 𝑐𝑐,𝑑𝑑, 𝑒𝑒,𝑓𝑓,𝑔𝑔, ℎ, 𝑖𝑖. 𝑗𝑗} 16 
𝐴𝐴 = {𝑑𝑑, 𝑒𝑒, 𝑓𝑓,𝑔𝑔} 17 
𝐵𝐵 = {𝑓𝑓,𝑔𝑔, ℎ, 𝑖𝑖, 𝑗𝑗} 18 
𝐴𝐴 ∩ 𝐵𝐵 = {𝑓𝑓,𝑔𝑔} 19 

𝐴𝐴 ∪ 𝐵𝐵 = {𝑑𝑑, 𝑒𝑒,𝑓𝑓,𝑔𝑔, ℎ, 𝑖𝑖, 𝑗𝑗} 20 
𝐴𝐴 ∩ 𝐵𝐵� = {𝑑𝑑, 𝑒𝑒, }      𝑢𝑢𝑢𝑢𝑢𝑢𝑢𝑢𝑢𝑢𝑢𝑢 𝑚𝑚𝑚𝑚𝑚𝑚𝑚𝑚𝑚𝑚𝑚𝑚𝑚𝑚 𝑖𝑖𝑖𝑖 𝐴𝐴 21 
𝐴̃𝐴 ∪ 𝐵𝐵 = {ℎ, 𝑖𝑖, 𝑗𝑗}       𝑢𝑢𝑢𝑢𝑢𝑢𝑢𝑢𝑢𝑢𝑢𝑢 𝑚𝑚𝑚𝑚𝑚𝑚𝑚𝑚𝑚𝑚𝑚𝑚𝑚𝑚 𝑖𝑖 𝐵𝐵 22 



From this, we get: 23 

𝑟𝑟𝑟𝑟𝑟𝑟 𝑐𝑐𝑐𝑐𝑐𝑐𝑐𝑐𝑐𝑐𝑐𝑐𝑐𝑐𝑐𝑐 𝑜𝑜𝑜𝑜 𝐴𝐴 =
𝑛𝑛𝑛𝑛𝑛𝑛𝑛𝑛𝑛𝑛𝑛𝑛 𝑜𝑜𝑜𝑜 𝑚𝑚𝑚𝑚𝑚𝑚𝑚𝑚𝑚𝑚𝑚𝑚𝑚𝑚 𝑖𝑖𝑖𝑖 𝐴𝐴
𝑛𝑛𝑛𝑛𝑛𝑛𝑛𝑛𝑛𝑛𝑛𝑛 𝑜𝑜𝑜𝑜 𝑚𝑚𝑚𝑚𝑚𝑚𝑚𝑚𝑚𝑚𝑚𝑚𝑚𝑚 𝑖𝑖𝑖𝑖 𝑈𝑈

=
4

10
= 0.40 24 

𝑟𝑟𝑟𝑟𝑟𝑟 𝑐𝑐𝑐𝑐𝑐𝑐𝑐𝑐𝑐𝑐𝑐𝑐𝑐𝑐𝑐𝑐 𝑜𝑜𝑜𝑜 𝐵𝐵 =
𝑛𝑛𝑛𝑛𝑛𝑛𝑛𝑛𝑛𝑛𝑛𝑛 𝑜𝑜𝑜𝑜 𝑚𝑚𝑚𝑚𝑚𝑚𝑚𝑚𝑚𝑚𝑚𝑚𝑚𝑚 𝑖𝑖𝑖𝑖 𝐵𝐵
𝑛𝑛𝑛𝑛𝑛𝑛𝑛𝑛𝑛𝑛𝑛𝑛 𝑜𝑜𝑜𝑜 𝑚𝑚𝑚𝑚𝑚𝑚𝑚𝑚𝑚𝑚𝑚𝑚𝑚𝑚 𝑖𝑖𝑖𝑖 𝑈𝑈

=
5

10
= 0.50 25 

𝑠𝑠𝑠𝑠𝑠𝑠𝑠𝑠𝑠𝑠𝑠𝑠𝑠𝑠𝑠𝑠 𝑐𝑐𝑐𝑐𝑐𝑐𝑐𝑐𝑐𝑐𝑐𝑐𝑐𝑐𝑐𝑐 𝑜𝑜𝑜𝑜(𝐴𝐴 ∨ 𝐵𝐵 ⇒ 𝑅𝑅)  =
𝑛𝑛𝑛𝑛𝑛𝑛𝑛𝑛𝑛𝑛𝑛𝑛 𝑜𝑜𝑜𝑜 𝑚𝑚𝑚𝑚𝑚𝑚𝑚𝑚𝑚𝑚𝑚𝑚𝑚𝑚 𝑖𝑖𝑖𝑖 𝐴𝐴 ∪ 𝐵𝐵
𝑛𝑛𝑛𝑛𝑛𝑛𝑛𝑛𝑛𝑛𝑛𝑛 𝑜𝑜𝑜𝑜 𝑚𝑚𝑚𝑚𝑚𝑚𝑚𝑚𝑚𝑚𝑚𝑚𝑚𝑚 𝑖𝑖𝑖𝑖 𝑈𝑈

=
7

10
= 0.70 26 

𝑢𝑢𝑢𝑢𝑢𝑢𝑢𝑢𝑢𝑢𝑢𝑢 𝑐𝑐𝑐𝑐𝑐𝑐𝑐𝑐𝑐𝑐𝑐𝑐𝑐𝑐𝑐𝑐 𝑜𝑜𝑜𝑜𝑜𝑜 =
𝑛𝑛𝑛𝑛𝑛𝑛𝑛𝑛𝑛𝑛𝑛𝑛 𝑜𝑜𝑜𝑜 𝑚𝑚𝑚𝑚𝑚𝑚𝑚𝑚𝑚𝑚𝑚𝑚𝑚𝑚 𝑖𝑖𝑖𝑖𝑖𝑖 ∩ 𝐵𝐵�  
𝑛𝑛𝑛𝑛𝑛𝑛𝑛𝑛𝑛𝑛𝑛𝑛 𝑜𝑜𝑜𝑜 𝑚𝑚𝑚𝑚𝑚𝑚𝑚𝑚𝑚𝑚𝑚𝑚𝑚𝑚 𝑖𝑖𝑖𝑖 𝑈𝑈

=
2

10
= 0.20 27 

𝑛𝑛𝑛𝑛𝑛𝑛𝑛𝑛𝑛𝑛 𝑐𝑐𝑐𝑐𝑐𝑐𝑐𝑐𝑐𝑐𝑐𝑐𝑐𝑐𝑐𝑐 𝑜𝑜𝑜𝑜𝑜𝑜 =
𝑛𝑛𝑛𝑛𝑛𝑛𝑛𝑛𝑛𝑛𝑛𝑛 𝑜𝑜𝑜𝑜 𝑚𝑚𝑚𝑚𝑚𝑚𝑚𝑚𝑚𝑚𝑚𝑚𝑚𝑚 𝑖𝑖𝑖𝑖 𝐴̃𝐴 ∪ 𝐵𝐵
𝑛𝑛𝑛𝑛𝑛𝑛𝑛𝑛𝑛𝑛𝑛𝑛 𝑜𝑜𝑜𝑜 𝑚𝑚𝑚𝑚𝑚𝑚𝑚𝑚𝑚𝑚𝑚𝑚𝑚𝑚 𝑖𝑖𝑖𝑖 𝑈𝑈

=
3

10
= 0.30 28 


